MATEMATICAS 42 ESO

ECUACIONES

RESOLVER LAS SIGUIENTES ECUACIONES RACIONALES

3-x x-1

1. N -2 (Soluc: x=3)
x+2 x-2
2. x+2- =ﬁ (Soluc: x=2)
X 2
3. 8 ©x _ (Soluc: xs=10; x=—3)
x+6 x-6
4. = : S+ > (Soluc: x=-1)
x-1 x-1
5. il + x+1:1¢2xf3 (Soluc: x=%1)
x X x
Sx+1 1 _ x (Soluc: x1=3; x2=—1)
x*-4 x+2 x-2
S (Soluc: x=-2/5)
X+ £-X X -4
8. (%) x-2 x . x-1 (Soluc: x=-3)
x-1  (x=1)(x-2) x-2
9. 1 ; 1 _ 1 (Identidad: se verifica ¥ %)
-2 x-1 x-2
10. - ! _i s (Soluc: x4=18; x=-3)
x-6 2 6 x-6
11. 1.2 (Solue: x5=2; x2=1/2)
X 2
12. 4 + Ax+1) _ (Soluc: x4=3; x2=4/5)
x 3Ax-2)
—
13. X ,V2_75, (Soluc: x=22)
N2 X
14. .l+ 1 :i “ 11 2 J451
x x+3 10 ! 5
15. _1+i:§ (Soluc: x1=2; x2=-2/3)
x ¥ 4
16. _* + X -3 (Soluc: x=3)
x-1 x+1
17. 5 x 3 (Soluc: x1=3; x2=—4)
x+2 x+3 2
18. x+3_x’+1=§ (Soluc: x4=6; x2=-8/13)
x-1 x*-1 35
x|
19, x+1 2x-1

(2 soluc. )
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20.
21.

22.

23.

24,

25,
5

26

27.

x-3 x+3 2-3x

24x  x2-1

*) X -x X
Ax _x+5_,
x+5 x-5

1-2x x

x+7  x-1

1 1 5

+-
x-1 x+1 12

(Soluc: x=2)

(Soluc: x+=0; x2=15)

(Soluc: xy=—1; xz=-1/3)

(Soluc: x+=5; x2=-1/5)

(2 soluc. )

(Soluc: x4=25; x2=-15)

(Soluc: x4=2; xp=-1/2)

(Soluc: x+=0; xz=-1)



